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FACULTY OF SOCIAL SCIENCE
B.A. (Frist Year) (Second Semester) (Backlog) EXAMINATION
OCTOBER/NOVEMBER, 2019

ECONOMICS

Paper IV (Optional)

(Economy of Maharashtra)
(MCQ + Theory)

(Monday, 25-11-2019) Time : 10.00 a.m. to 12.00 noon
Time— Two Hours Maximum Marks—40
N.B. .— () Attempt All the questions.

(i1) All questions carry equal marks.

(@ii) Wrong answer of MCQ will carry negative marks.

(@) wd TR grean

(i) \E YA FHE O ST

(tii) SGIAR YA RISl IUNH RUNCHSE T[0T 37T

MCQ)
1. Attempt the following multiple choice questions : 10

TTellel Sgaart ge diedn
() According to census of 2011 density of population of Maharashtra was

(@ 315 (b) 365
(c) 382 (d) 465
201141 SUHTER HERIS=AT AR d@ae By ZAhl Bl
(@ 315 (b) 365
(c) 382 (d) 465
(iz)  Population migrate from village to city is called ............ as per ‘Olsen’
opinion.
(@) Location (b) Industrialisation
(c) Urbanization (d) Socialisation
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f _Cl'i?]'[ _qa @Sﬂl(ﬁﬂ Q’i\loh W T}ﬂtﬁ ‘%Ul@f .................... —E)P'—q

(@ T () SNt

) AR (d) HHATSRTOT

What is sex ratio ?

(@) No. of female per thousand male

(b)  No. of male per thousand female

(c) No. of population per thousand male
(d) No. of population per thousand female
Si-q&y YA WS 6T ?

(@ T TIR YEUMR U fo@men wen
) T FR R SO qe den
¢ T TR ARIGHHR U JEeeE &
d) T TR ARIGEHN TN ot g

Which of the following reasons is not the migration of rural popu-
lation ?

(@)  Education (b) Trade

(e) Employment (d) Entertainment
TICAAUh! UTHIUT AhHEa=al TS ROl AT :
(@) Toremo (b) =R

()  USTR (d) HETH
Which of the following crops is not cash crop ?
(@) ~ Sugarcane (b) Cotton

(c) Banana (d) dJowar
WAt v TRl fus A& ?

(@ 9 (b) <MIH

)  hal d) &

What is meant by Green Revolution ?

(@) Green coloured revolution

(b) ~ Changes in agricultural productivity

(c) Changes in standard of living of farmers

(d)  Increase the proportion of unemployment
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3R wl TS wE ?
(@ fet=n Tm= i
(b) Ul IURHAd TS IAeiell o
(c) VA=A TEUIHMG Seel sed

(d) SRR YHUTG Sl die

(vii) Which is the cheapest mode of transportation ?

(@) Water transport (b) Road transport
(c) Air transport (d) Railway transport
TRl Fald HHT WAl YRR hI0 2
(@ S e (b) T& AETH
(c) A B (d) Y a=gH

(viit) Maharashtra Maritime Board is related with ....................
(@)  Ports development (b) Road development
(c) Railway development (d) Airport development
W -aﬂz-lg-q m ................... -Q-ﬂ- w—ﬁqﬁ 3-{1%-
(@ et fashE () & fawE
) I fawm (d) foumdes faemg

(tx) ~ Which of the following is not the reason of Regional Imbalance ?
(@) Geographical Reason (b) Economic Reason
(c) Social Reason (d) Industrial Decentralisation
TICTAUh! IV TIGIh STHHAGTS hRU ARl ?
(@)  drifers R (b) Tt SR
(c) — AHIfSeh R (d) zErme fashgiem

(x) Nagpur Agreement was made in ................... year.
(@) 1948 (b) 1953
(c) 1956 (d) 1960
TATGE e ST oA ST
(@) 1948 (b) 1953
(c) 1956 (d) 1960
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(Theory)

2. What is urbanization ? State the causes of increase in urban population in
Maharashtra. 10
RISl 19 7 HERISIA AT SllehaeA aTerel ol |

Or
(fenam)

Discuss the Land Reforms Programme in Maharashtra.

TR STHIA RN RREiRA o= .
3. Explain the structure and growth of Industries in Maharashtra. 10
HRNTSSIel SENI= ToAT ST gl T <.
Or
(fenam)
Write the progress and problems of water transport in Maharashtra.
TRl STetdTageni=l Wdl o Fae forel

4, Write short notes on (any two) : 10
() Special Economic Zone (SEZ)
(z1)  Regional Imbalance
(zii) ~ Cropping pattern
(tv) ~ Migration of Rural Population
e fom faer (Fo@R @9)
) T enfiew &= ()
(i) TR STHHAI
Gii)  fue wgdt

(v)  UTHIU AHEEET TIATN
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